Igraa School
Jor Learning and Education

There is a canteen in Keith’s school Today, Keith
choosses vegetable soup and salad. Keith eats [unch in the
school canteen.. Today there are two main courses : tish and
chips or cheese salad. Keith chooses cheese salad. He
doesn’t like fish and chips. He has an apple for dessert. His
lunch costs £ 1,95.

A) Comprehension :

Answer these questions :

1- Is there a canteen in Keith’s school ?

................................
--------------------------------

--------------------------------

I) David = Ann Jones
Kabert Brown = Susz'm Brown
— I i
Daniel Ermma

Look at the family tree and complete the sentences :

1) Danicl is Robert™s . .. ............... .
2DYEmmais Ann’s .. ... ...



ITI) Complete the conversation :

Danicl ;. .................. ... ? (like / am apple)

Alison:yes, ... ... ... ...

Dantel :...................... ? (like / some salad)

Alison:No, ..................

I} Put the verbs between brakets in the correct
form -

Hamid and Nadia (notto live) .. ... . .. in a big house ; but in a
flat Nadia{lobe). ... ....... a doctor and she (work) ... ..... ..
In a hospital. Hamid is an engineer and he (tolike) ... ... ... ... ..
Sport, He {toplay) . ............ tenris on Wednesday and Friday,
Nadia (not/to have) . ............ time to play sport.

1V) Complete with some or any :

IyThereare .. ...... .. ... oranges n the kitchen.
2y Thereisn™t.. .. ... ... water in the bottle.
3Istherc............. .. apple juice in (ridge ?

V) Write the questions:

1) Your parents / like / dancing ?

-----------------------------

-----------------------------

.............................



